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Reference vs. Shallow vs. Deep Copies

= Tnitial situation:

= Result of:

@ = a.deep_twin " “Almaviva”

—

loved_one
[: ,Cﬁ()l IOVO{ = & g e “Figaro” l “Susanna”
L. lano( [ovo( =0 (H I R







Collection Objects: Reference Copy & Make Changes

= old_imp = imp -- Result {8
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Collection Objects: Shallow Copy & Make 1st-Level Changes

old_-imp := imp.twin

Resudt—= P

imp[2] := "Jim" ’[L]
e
Result :=

across 1 |..| IiImp.count is j OIJ_NTD

all imp [¥]] ~ old_imp [&]

end ——- Result =
ARRAY[SZRING]
C 2. )
im ——

”w o[ 1] imp[2] imp[3]

STRING STRING
ﬁ value value

:,JJ_MF["Z]

STRING
value




Collection Objects: Shallow Copy & Make 2nd-Level Changes

old.imp := imp.twin
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old_-imp := imp(. twin>

Result := old imp = imp - Result = false
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ochimp<:=>imp.twin
Result := old imp = imp
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Collection Objects: Dee

D Copy & Make 1st-Level Changes
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Collection Objects: Deep Copy & Make 2nd-Level Changes
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Runtime Contract Checks
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